R AR (B4 %5 581%)
=4 9 i E=sS =<
A FL *& a2 ¥ 98 & il B | R L
T % 2 4 | SfbFEE BFK - B H4EFEE R EERE LF
THEEPr | FHEET IR - K HN
HEEKET
JEHIT 4EH] V=140m3
PR T M - FAPERER; V=14 Om3
LT
HRIEFTHOZ T AREERROIMT L =14 m. &R A=900
THEED m2. EYEHE - ALy V=4 5m3., FEKE . EE A=900
N 47&5 m2
# = X E R T
KR T RE X R 956 15em 1 L=26 Om. f#f 15cm
H L=70m, ¥'7°7 45cm 1 L=3m. K& 5 3F 15cm #
B EH L=19m, KH-GLZ-XF 15em#iH 3% L=19m
% T
REHT RWEFBEEHEE N=10AH
(B%E T =)
FEYEH Y AR | AR
2K 7 | WIRA & —fxme AL | A FL H|SM64£3H25H
X %
AT | Rk
ESRS
TAAFD | ey mmr b 2 1 3 0 Tk
£ B3
KA | ¥9, 449, 000-|E¥ K H|SM6HE3H29H
B BEFR
A T H|Sf643H29H s Bk ¥ H| Sfn64 6 H25H
SRS N7
R
EL-HA
WAES - T EIRERITSE 16 7500 25 1 HE a2
IS 24
Q(Eégé ¥9, 574, 400- | EEEZKWH | mf644H15H
NSRS
RERI | g g pp iy | ST e S A A
B 1%
z B %
IR f
o= T oM op| ARl







